PARLINGTON CRICKET CLUB 2nd XI 2012

<u>LEAGUE</u>	PLAYED	26
	ABANDONED	9
	WON	6
	8 PT DRAWS	0
	6 PT DRAWS	1
	4 PT DRAWS	0
	2 PT DRAWS	0
	0 PT DRAWS	2
	LOST	8

10th IN LEAGUE WITH 236 POINTS

FINALISTS - 15/15 CUP COMPETITION

<u>CUPS</u>	PLAYED	6
	WON	3
	TIED	1
	LOST	2

LEAGUE BATTING

	_		Highest	Not	Comp.			
	<u>Innings</u>	Runs	<u>Score</u>	<u>Out</u>	<u>Innings</u>	<u>Average</u>	<u>50's</u>	<u>100's</u>
C LETHBRIDGE	17	360	72	2	15	24.00	2	0
K BARKER	13	275	76	1	12	22.92	3	0
R BRIDDOCK	11	192	32	2	9	21.33	0	0
S RUSSELL	12	125	37*	6	6	20.83	0	0
M STAINSBY	13	213	79	1	12	17.75	1	0
T CHAPMAN	14	179	37	2	12	14.92	0	0
L CRAGGS	15	186	40	1	14	13.29	0	0
A BALDWIN	11	107	25	0	11	9.73	0	0
A STURGEON	10	59	32	3	7	8.43	0	0
Also Batted								
J VICKERMAN	6	213	82*	1	5	42.60	2	0
S LEE	1	36	36	0	1	36.00	0	0
C BIGLIN	4	106	39	1	3	35.33	0	0
M WHEELER	5	153	117	0	5	30.60	0	1
S LISTER	2	58	43	0	2	29.00	0	0
D MORGANS	5	87	50	0	5	17.40	1	0
P RAINE	2	8	7	1	1	8.00	0	0
M LUNN	2	7	7*	1	1	7.00	0	0
N WHALEY	3	12	9	1	2	6.00	0	0
S HARDY	3	17	9	0	3	5.67	0	0
G SOWERBY	4	6	3*	2	2	3.00	0	0
D BALDWIN	7	9	5	4	3	3.00	0	0
S LETHBRIDGE	2	37	19*	2	0	n/a	0	0
T SOWERBY	2	12	12*	2	0	n/a	0	0

RUNS SCORED FOR	WICKETS LOST	<u>AVERAGE</u>
2540	125	20.32

	 _	
TFA	BOWI	INC

LEAGUE BOWLING	\underline{G}								
	D 11	0	2.6.1		XX 71 .		Best	Runs/	Strike
	<u>Balls</u>	<u>Overs</u>	<u>Mdns</u>	Runs	Wkts	<u>Average</u>	Bowling	<u>Over</u>	<u>Rate</u>
S RUSSELL	989	164.5	35	510	28	18.21	7-17	3.100	35.32
T CHAPMAN	929	154.5	25	544	25	21.76	5-10	3.521	37.16
D BALDWIN	956	159.2	19	589	25	23.56	4-35	3.700	38.24
Also Bowled									
<u> </u>									
P RAINE	482	80.2	14	251	15	16.73	4-46	3.130	32.13
G SOWERBY	150	25	5	110	6	18.33	3-31	4.400	25.00
M STAINSBY	355	75	14	234	12	19.50	4-50	3.120	29.58
S LEE	30	5	1	20	1	20.00	1-20	4.000	30.00
L CRAGGS	114	19	1	99	3	33.00	2-38	5.211	38.00
J VICKERMAN	84	14	1	66	2	33.00	1-21	4.714	42.00
S HARDY	96	16	1	69	2	34.50	2-32	4.313	48.00
M LUNN	82	13.4	0	79	2	39.50	2-47	5.896	41.00
Catches (all games)									
									
A STURGEON	14		M WHE		4		A BALDW		1
S RUSSELL	9		CS BIGI		3		J VICKER	MAN	1
L CRAGGS	8		D BALD		3				
C LETHBRIDGE	8		S LISTE		3				
T CHAPMAN	7			BRIDGE	2				
K BARKER	6		S HARD		2				
M STAINSBY	5		T SOWE		2				
R BRIDDOCK	5		P RAINI	Ξ	2				
<u>Stumpings</u>									
A CITAL CECAN	2								
A STURGEON	3								
A BALDWIN	2								

RUNS SCORED AGAINST	WICKETS TAKEN	<u>AVERAGE</u>
4079	132	30.90

CUP BATTING			Highest	Not	Comp.			
	<u>Innings</u>	Runs	<u>Score</u>	<u>Out</u>	<u>Innings</u>	<u>Average</u>	<u>50's</u>	<u>100's</u>
K BARKER	6	227	63*	4	2	113.50	2	0
S RUSSELL	3	40	24*	2	1	40.00	0	0
L CRAGGS	5	36	19*	3	2	18.00	0	0
S HARDY	3	51	37	0	3	17.00	0	0
M WHEELER	3	43	17	0	3	14.33	0	0
A BALDWIN	4	56	38	0	4	14.00	0	0
C LETHBRIDGE	6	77	32	0	6	12.83	0	0
T CHAPMAN	3	23	13*	1	2	11.50	0	0
Also Batted								
S LISTER	2	74	46	0	2	37.00	0	0
DJ MORGANS	2	53	51	0	2	26.50	1	0
R BRIDDOCK	2	41	23	0	2	20.50	0	0
CS BIGLIN	1	7	7	0	1	7.00	0	0
A STURGEON	1	3	3*	1	0	n/a	0	0
O KING	1	0	0*	1	0	n/a	0	0

RUNS SCORED FORWICKETS LOSTAVERAGE8223126.52

<u>CUP BOWLING</u>	<u>Balls</u>	<u>Overs</u>	<u>Mdns</u>	Runs	Wkts	<u>Average</u>	Best Bowling	Runs/ Over	Strike <u>Rate</u>
S RUSSELL O KING S LETHBRIDGE D BALDWIN	156 102 70 108	26 17 11.4 18	1 0 0 0	134 127 77 133	9 5 3 3	14.89 25.40 25.67 44.33	2-9 3-8 3-52 2-20	5.154 7.471 6.754 7.389	17.33 20.40 23.33 36.00
Also Bowled									
M STAINSBY	54	9	0	64	5	12.80	2-17	7.111	10.80
S HARDY	54	9	0	72	4	18.00	2-22	8.000	13.50
C LETHBRIDGE	36	6	0	40	1	40.00	1-19	6.667	36.00
L CRAGGS	38	6.2	0	54	1	54.00	1-10	8.710	38.00
T CHAPMAN	43	7.1	0	70	1	70.00	1-22	9.859	43.00

RUNS SCORED AGAINST	WICKETS TAKEN	<u>AVERAGE</u>
790	36	21.94

INDIVIDUAL BATTING

<u>100's</u>	M WHEELER	117	v	DARLINGTON RA	(A)	LEAGUE
100's 50's	M WHEELER J VICKERMAN M STAINSBY K BARKER C LETHBRIDGE C LETHBRIDGE K BARKER D J MORGANS K BARKER K BARKER	82* 79 76 72 68 63* 51 52 51	v v v v v v v v v v v v v v v v v v v	DARLINGTON RA BISHOP AUCKLAND BISHOP AUCKLAND MARTON RICHMONDSHIRE MARTON NORTHALLERTON NORTHALLERTON REDCAR NORTHALLERTON	(A) (H) (H) (H) (H) (H) (A) (A)	LEAGUE LEAGUE LEAGUE LEAGUE CUP CUP LEAGUE LEAGUE
	K BARKER J VICKERMAN	50* 50	v v	DARLINGTON RA DARLINGTON RA	(A) (H)	CUP LEAGUE
		. –	•		` /	
			•		` ′	
<u>50's</u>	M STAINSBY		•	BISHOP AUCKLAND	(H)	LEAGUE
<u>50's</u>	J VICKERMAN	82*	v	BISHOP AUCKLAND	(A)	LEAGUE
<u>100's</u>	M WHEELER	117	V	DARLINGTON RA	(A)	LEAGUE
100's	M WHEELER	117	V	DARLINGTON RA	(A)	LEAGUE
			•		` /	

FASTEST 50

K BARKER 50* v DARLINGTON RA (A) CUP off 30 balls

HIGHEST WICKET PARTNERSHIPS (50+)

1st	WICKET	121	v NORTHALLERTON	(H) D J MORGANS	& K BARKER	CUP
2nd	WICKET	130	v MARTON	(H) K BARKER	& C LETHBRIDGE	LEAGUE
3rd	WICKET	78	v REDCAR	(A) K BARKER	& S LISTER	CUP
4th	WICKET	88	v RICHMONDSHIRE 2NDS	(H) C S BIGLIN	& C LETHBRIDGE	LEAGUE
5th	WICKET	63	v REDCAR	(A) K BARKER	& C LETHBRIDGE	LEAGUE
6th	WICKET	75	v DARLINGTON RA	(A) M WHEELER	& R BRIDDOCK	LEAGUE
8th	WICKET	95	v BISHOP AUCKLAND	(H) M STAINSBY	& A STURGEON	LEAGUE

OTHER 50+ PARTNERSHIPS

1ST WICKET	92 v DARLINGTON RA	(H) D J MORGANS	& J VICKERMAN	LEAGUE
2ND WICKET	64 v DARLINGTON RA58 v BISHOP AUCKLAND	(A) K BARKER (H) K BARKER	& R BRIDDOCK & S HARDY	CUP CUP
6TH WICKET	64 v WHITBY 52 v BLACKHALL	(H) L CRAGGS (A) T CHAPMAN	& R BRIDDOCK & S LETHBRIDGE	LEAGUE LEAGUE
8TH WICKET	57 v MARTON	(A) S RUSSELL	& T SOWERBY	LEAGUE

INDIVIDUAL BOWLING

7 WICKETS	S RUSSELL	7-17	v	YARM	(H)	LEAGUE
5 WICKETS	S RUSSELL	5-9	v	MARSKE	(H)	LEAGUE
	T CHAPMAN	5-10	V	MARSKE	(H)	LEAGUE
4 WICKETS	D BALDWIN	4-35	v	NORTHALLERTON	(H)	LEAGUE
	D BALDWIN	4-37	v	NORTHALLERTON	(A)	LEAGUE
	S RUSSELL	4-38	v	DARLINGTON RA	(A)	LEAGUE
	P RAINE	4-46	v	WHITBY	(H)	LEAGUE
	D BALDWIN	4-48	v	BLACKHALL	(A)	LEAGUE
	P RAINE	4-48	v	RICHMONDSHIRE	(A)	LEAGUE
	T CHAPMAN	4-49	v	REDCAR	(H)	LEAGUE
	M STAINSBY	4-50	v	MARTON	(A)	LEAGUE
	T CHAPMAN	4-67	V	BISHOP AUCKLAND	(A)	LEAGUE
3 WICKETS	O KING	3-8	v	DARLINGTON RA	(A)	CUP
	M STAINSBY	3-17	v	NORTHALLERTON	(H)	LEAGUE
	M STAINSBY	3-18	v	RICHMONDSHIRE	(A)	LEAGUE
	S RUSSELL	3-22	v	REDCAR	(H)	LEAGUE
	T CHAPMAN	3-25	v	YARM	(H)	LEAGUE
	G SOWERBY	3-31	v	MARTON	(H)	LEAGUE
	P RAINE	3-39	v	DARLINGTON RA	(A)	LEAGUE
	D BALDWIN	3-50	v	MARTON	(H)	LEAGUE
	S LETHBRIDGE	3-52	v	NORTHALLERTON	(H)	CUP

		WON	<u>LEAGUE</u> <u>LOST</u>	DRAWN	<u>WON</u>	<u>CUP</u> TIED	LOST
BATTING 1st	HOME	2	3	1	1	1 1	<u>LOST</u> 1
<u> </u>	AWAY	2	2	0	1	0	2
BATTING 2nd	HOME	2	0	0	0	0	0
	AWAY	0	3	2	1	0	0

LEAGUE

<u>H/A</u>	Points	<u>Darlington</u>	Opponents	<u>Result</u>
A	6			Aband
H	20	36 for 4	35 all out *	Won by 6 wickets
A	3	145 all out	214 for 3 *	Lost by 69 runs
H	6	* 216 for 8	219 for 3	Lost by 7 wickets
H	6			Aband
A	6			Aband
H	5	* 192 for 9	193 for 3	Lost by 7 wickets
A	5	105 all out	214 for 9 *	Lost by 109 runs
H	20	* 150 for 7	122 all out	Won by 28 runs
A	6			Aband
H	6			Aband
H	20	* 185 for 8	118 all out	Won by 67 runs
H	6			Aband
A	6			Aband
A	4	105 for 5	184 for 7 *	Draw
A	20	* 161 for 6	136 all out	Won by 25 runs
H	4	164 all out	247 for 2 *	Lost by 83 runs
A	6			Aband
H	14	* 254 for 5	204 for 7	Draw
A	5	* 137 for 8	138 for 7	Lost by 3 wickets
H	20	46 for 1	42 all out *	Won by 9 wickets
A	5	137 for 7	215 for 7 *	Draw
H	6			Aband
A	4	* 117 all out	118 for 6	Lost by 4 wickets
H	7	* 175 all out	176 for 8	Lost by 2 wickets
A	20	* 215 for 7	102 all out	Won by 113 runs
<u>'</u>	236			
:				
	A H A H H A H H A H H A H H A H H A H A	A 6 H 20 A 3 H 6 H 6 H 6 A 6 H 5 A 5 H 20 A 6 H 6 H 6 A 6 H 6 H 20 H 6 A 6 H 20 H 6 A 6 A 4 A 20 H 4 A 5 H 20 A 5 H 20 A 6 H 4 A 7 A 20	A 6 H 20 36 for 4 A 3 145 all out H 6 * 216 for 8 H 6 A 6 H 5 * 192 for 9 A 5 105 all out H 20 * 150 for 7 A 6 H 6 A 6 H 20 * 185 for 8 H 6 A 4 105 for 5 A 20 * 161 for 6 H 4 164 all out A 6 H 14 * 254 for 5 A 5 * 137 for 8 H 20 46 for 1 A 5 137 for 7 H 6 A 4 * 117 all out H 7 * 175 all out A 20 * 215 for 7	A 6 H 20 36 for 4 35 all out * A 3 145 all out 214 for 3 * H 6 *216 for 8 219 for 3 H 6 A 6 H 5 *192 for 9 193 for 3 A 5 105 all out 214 for 9 * H 20 *150 for 7 122 all out A 6 H 6 A 6 H 6 A 6 H 6 A 6 H 20 *185 for 8 118 all out H 6 A 6 A 4 105 for 5 184 for 7 * A 20 *161 for 6 136 all out H 4 164 all out 247 for 2 * A 6 H 14 *254 for 5 204 for 7 A 5 *137 for 8 138 for 7 H 20 46 for 1 42 all out * A 5 137 for 7 215 for 7 * H 6 A 4 *117 all out 118 for 6 H 7 *175 all out 176 for 8 A 20 *215 for 7 102 all out

CUP

Barnard Castle (Robinson)	Α	1st round	* 124 for 6	126 for 4	Lost	by 6 wickets
Northallerton (Haith)	H	1st round	* 121 for 1	122 for 5	Lost	by 5 wickets
Richmondshire (15's)	Н	Group			Aband	
Northallerton (15's)	A	Group			Aband	
Bishop Auckland (15's)	Н	Group	* 115 for 4	115 for 4	Tied	
Darlington RA (15's)	A	Group	* 101 for 3	81 for 9	Won	by 20 runs
Redcar (15's)	A	Qtr final	128 for 3	125 for 5	* Won	by 7 wickets
Bishop Auckland (15's)	Н	Semi final	* 135 for 8	125 for 7	Won	by 10 runs
Saltburn (15's)	N	Final	* 98 for 6	99 for 2	Lost	by 8 wickets

^{*} batted first.